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INSTRUCTIONS (agrénnm)

Please check the Test Booklet and ensure that it contains all the questions. If you find any defect in
the Test Booklet or Answer Sheet, please get it replaced immediately.
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The Test Booklet contains 150 questions. Each question carries two marks.
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The Quesﬁon Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.
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The Test Booklet is printed in four (4) Series, viz. [A][B][C][D]. The Series, [A]or [Blor [C] or [D]is printed
on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet Series or [Blor

or [D] in Part C on side 1 of the Answer Sheet by darkening the appropriate circle with Blue/Black Ball
point pen. _
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Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :
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If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leads to discrepancy in determining the exact Test Booklet Series,
then, in all such cases, your Answer Sheet will be invalidated without any further notice.

No correspondence will be entertained in the matiter.

By (5) JBE0 Bk, SYS0R (Series) SHrES JBEY 08 PHD 2§ C &° H08osEovT 85 K805
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Sossgdwed”, g Jewsoed 58855 a8 BaDEr0ET SL0ES SBSD S68doSeE (invalidated) . 8D
K809 JenSoed GBS (SHB ISV BDIWED.

Each question is followed by 4 answer choices. Of these, you Eave to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Blue/Black Ball .point pen to make heavy
black marks to fill the circle completely. Make no other stray marks.
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e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
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Mark Paper Code and Roll No. as given in the Hall Ticket with Blue/Black Ball point pen by
darkening appropriate circles in Part A of side 1 of the Answer Sheet. Incorrect/not encoding will

lead to invalidation of your Answer Sheet.
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Example : If the Paper Code is 027, and Roll No. is 95640376 fill as shown below :
SO Ees : 235 556 027 558050 5°S R0. 95640376 0035 1308 BIDS DFBLT DODDW :
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7.  Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.
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8. The candidate should not do rough work or write any irrelevant matter in the Answer Sheet. Doing
so will lead to invalidation.
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9. Do not mark answer choices on the Test Booklet. Violation of this will be viewed geriously.
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10. Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record, failing which
disciplinary action will be taken.
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11. Use of whitener is prohibited. If used, the Answer Sheet is liable for invalidation.
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Four years ago, the average age of a
family of four persons was 18 years.
During this period, a baby was born.
Today, if the average age of family is
still 18 years, the age of baby is

(1) 2.5 years

(2) 2years

(3) 1.2 years

(4) 3.0 years

If

A= Z (x, -x) and
1

B = Z Z (xi -—xj)z,
i=1 j=1

then B is equal to

(1) 4nA

(2) 4n*A

(3) 2nA

(4) 2n*A

For n observations x,,x,, ", %,, let

A= Z x;, B = median (x;, %y, """, %,,) '
1

c=Y |x—A|and
1

D= |x-B|
1
Then which one of the following is true?
1) A+B=-(C+D)
2) A+B2C+D
(3) C<D
4 CzD
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If n =10,

in=z x? =.0:

Zx? =30, Z x} =1000, then £, is

(1) 10/9 (2) 100/9
3 0 (4)- 10/3

If for the observations x,,%s, ;%5

mean = 2 (variance) and Z %; =20

then Y x} is
i

(1) 20
(3 90

(2) 100
(4) 120

If geometric mean of numbers 4, 6 and
x is 6, then value of x is
1 65 (2) 8
3 9 (4) 4

For a set of positive integers choose
the possible correct statements for the
values of AM, GM and HM
respectively

(1) (30, 40, 60)

(2) (40,60, 30)

(3) (40, 30, 60)

(4) (60,40, 30)

The appropriate relation between

mean X and median M for a
positively skewed distr_i_bution is
(1) X<M (20 X=M

@ X>3M () X>M

For symmetric distribution the
quartiles @,,Q, and & satisfy the
relation _

(1) Ql = Qa

(2) Q=@+ Q,

(3) @-Q,=Q-¢

(4) @, +Q;=4Q,
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e Hoddyore [BHHW, Herdd e feo
ef), Sevon  HFH ITRE DALY
18 Josigren, & oS’ 2, FBY =00,
S8 Devowdns” Jghe Vo8 SADLAY
18 Sostytren Sawds', & Y SoHY

(1) 2.5 Sosgoeen

(2) 2 sodpre

(3) 1.2 Sodgyoeen
(4) 3.0 Sodtyoren
Ko n

> ;- x)" w080

n

B= Z z (x£ —xj)g, 00T
i=1 j=1

B 828 S5omodo

(1) 4nA

(2) 4n*A

(3) 2nA

4) 2n%A

Xy, X,y %, G N S508000D,

A Zi x“B =a)(§§/‘(é:ll) XyyXgy "y Xy
1

C=i \:ximAl Ho8asin
1

D =Z | x; B l

1
Zo 1808 70" DB Desdw?
(1) A+B=-(C+D)
(2) A+B=C+D

(3) C<D
(4) C=D
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n =10, in =Z x? =0, Zx? =30,

D xf =1000, sonds® f, Do), deod

(1) 10/9 (2) 100/9
@ 0 (4> 10/3

Xy, %0, 00, Xy ©R DBB0SOH, DGR = 2

(95y8) DoBoto Y x; =20 eandS,

Y =} 2e0d
(1) 20 (2) 100
(3) 90 (4 120

4, 6 D08k x B, wéme‘scm mcﬁé;‘nmi 6
B00PS°, x @Y, dend

(1) 6.5 (2) 8
3 9 4) 4

Sgys Jrgos Soage swas AM, GM
5800 HM 5808 $8ahi devden

(1) (80, 40, 60)

(2) (40,60, 30)

(3) (40,30, 60)
(4) (60,40, 30)

TS Rl DprmdEng’, Soggodn X

0Ban B0y BHD0 M o 355 Ko HDoLoSHAD
1 X=<M (2 X=M
@ X>3M 4 X>M

), S Dermssns’, SBToTe) Q,,Q,
2B @y © Do o Howoginw

(1 Q1 =@

(2) Qs = Q], + Qz

3) @Q;-Q, =Q, -G,
(4) Q1 + Qa = 4@2
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10.

11.

12-

13.

14.

15.

(3) 90°

The median of set of values 21, 15, 35,
30, 46, 49, 37 is :

(1) 30 (2) 29

3) 35 (4) 49

Regression line of y on x passes

through the points (3, 4) and (5, 6).
Then the correlation coefficient
between x and y is

(1) 1/2 2 -1

3) 1 (4) 1/3

Two regression lines y on x and x on y
respectively pass through the points
(1, 1), (3, -1) and (3, 2), (8, 3), then the
angle between the two regression lines
is

(1 0° C A 450

(4) 60°

Two regression lines yonx andxony

respectively pass through the points
(1, 1), (3, 1) and (3, 2), (8, —-3), then
the value of sin 6,0 being the angle

between the two regression lines is
1

(1) 0 2 22

1

@ W, (4) 3%

Two regression lines y on x and x on y
pass through the points respectively
(3, 1), (1, 2) and (1, 1), (1/2,2). Then

the value of b, 18

1 -2 (2) 2
(3) 12 (4) -1/2

Two regression lines y on x and x on y
pass through the points respectively
(3, 1), (1, 2) and (1, 1), (1/2,2). Then

o, is

(1) 2o, (2] &
o o

ay Sz 7 s

(3) 2 (4) n

(6)

16.

17.

18.

19.-

20.

21.

(3 -172
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If the lines of regression are
y+4x =13 and 3y +2x =19, then the

coefficient of correlation between X
and Y is

1 12 @ -1/46

4). U2

The regression equations of ¥ on X
and X on Y are respectively ¥ =X

and 4X -Y =3, then the correlation
coefficient between X and Y is

1) O (2) 0.5

(3) -0.5 4 1

Let the correlation coefficient between
X and Y be 0.2. Let U =1+2X and
V=1-2Y. Then the -correlation
coefficient between U and V is

(1) 0.2 (2) -0.2

(3) 0.8 (4) 04

If x=y+8 and y=kx+9 '_ are
regression lines of x on y, and y on x

respectively, then the range of & is
(1) k<0 (2) k20

(3 -1<k<1 (4 0<k<l

If b, =i, r=§— and o, =3, then o,
5 5

will be
0 6 Tl (2) 4
3 2 (4) 5

What conditions should be satisfied
for E [y-a- bx[ to be minimum?
1) b=0, a=p,

g

2) a=0,b=—"=2
oy
o
(3) -b=f2—,a=py—bﬂx
o
4) b=—2,a=pu,-by
(4) o2 a=u,-bu
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10.

11.

12,

13.

14.

15.

21, 15, 35, 30, 46, 49, 37 dewde BwE),

S0EYIBHU0

(1) 30 (2) 29

(38) 35 (4) 49

XDy &R (HBNHD B (3, 4) 2Bk (5, 6)
& Dot oG DEPR. BgPE x Dbk
¥ Dogs ATVoweE st

(1 12 2 -1

3 1 (4) 173

x POy 20805 y PN x & Bocd (SARD

. Byew 3 (1, 1), (3, —1) Hobako (3, 2),

(8, —3) e DoSH® o0& JaIT, Be

BKHE Do D%y Ko 5
(1) 0° (2) 45°
(3) 90° (4) 60°

x Py 20Bcko y PH X 6D Bot (SBKSS
Ben B (1, 1), (3, —1) H8asw (3, 2),
(8, —3), ¥ DoKHe od BanHS® HBak
0 e38 S Doy |I8KHD Do WK

§'md5°, sin 6 &g, de0d
1
92
1
32

(1) O
3 1

(2)
(4)
x POy 600 y PR X &R Dok KNS

B B8 (3, 1), (1, 2) wBaww (1, 1),
(1!'2,2) 3 Potye Dod DT, b,

G30E), DD
(1) -2 (2 2
(3) 12 (4) -1/2

x P y 208ao y PO X & BB Ben
e (3, 1), (1, 2) 8ot (1, 1),
(1/ 2,2) vn DoYe Wod oIS,
a, @og), DD
(1) (2) o,

O-I Jx
(3) ~ (4) 1

20,

(7)

16.

17.

18.

19.

20‘

21.

1) 12

GET IT ON
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y+4x =13 2B 3y +2x =19, D
[BBND0RD B QK;S”, X 8w Yo mc.sé nge
monod Hensd

~1/4/6
/42

(2)

3) -12 (4)

X 3% Y 308ak0 Y b X & (58K50% Saen
spmre Y =X HB8aw 4X-Y =3
wandS’, X 8o Y o Sy Srdowod
Homgdn

(1 0 .
3) -0.5

(2) 0.5
4) 1

X 208050 Y & Sogsy ddonod roeatsn 0.2.
Let U=1+2X %8cfn V=1-2Y. U .
208050 V' & By drdonod KysaEdm

(1) 0.2 (2) -0.2
(3) 0.8 (4) 04

x=y+8 SoBa y=kx+9 D HEJT
y P x 20800 x Py &R BSHDD BB,

k @208, 75

(1) k<O (2) k=20

(3) -1<k<1l (4) 0<k=<l

by, =%, r=% 2Bckn 0, =3 ®odT
oy ¥y, de0d

(1 3 (2) 4

3 2 (4) b5

Ely-a-bxl gogomed o sgsoe &3
SE55B7
1 b=0,a=4,

2) a=0b=—"2

3) b=

0_2
a.

(4) bz"%?a’=ﬂy_bd"‘x
J)’
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22,

23.

24.

25.

26.

Two lines of regression are identical,
then the value of correlation
coefficient is always
(1) +1 (2)
(3) Zero (4)

+lor-1
-1

The equations of two regression lines
are x +y=6 and 2x +4y = 20. Then
the means for x and y are respectively
(1) (3,3 (2) 4,2)
3) (2,4 (4) (4,3)

If the value of correlation coefficient
between x and y is 1, then the value of
correlation coefficient between x and

-y/2 is
1 1 2) -1
(38) -1/2 4)  1/2

If X and Y are positively correlated
random variables, then which one of
the following is correct?

1) E[x-Y]>E[X]

2 E[x-Y]=E[x]-E[]

3) E[]>E [X]

4 E[X-Y]>E[X]-El]

Let {(x;,):i=1,2,",n} be pair of

observations on the variable (X ,Y). If

Y. =a+bx;, i=12,-,n, regression

ine of ¥ on X is y=a+bx,

Sf:i(Yi—yi)z, and r is the
i=1

correlation coefficient between X and
Y, then which one of the following is
correct?

(1)
(2) .

3) S=o?f1-r?)
(4) .

(8)

217.

28,

29.

30.

GET IT ON
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If frequency (AB)= 0 then value of

coefficient of association between A
and B is
(1} Zero

3) +1

(2)
(4)

-1

0.5

Given the class frequencies N =100,

(4)=60, (B)=70, (AB)=40, the

frequency of class (af) is
(1) 30

(3)

(2) 20

40 4 10

Choose from the following the correct

criterion for independence of two

attributes A and B
(1 (AB)=(A)-(B)
@ (AB)=0

@ (aB)= ——l(“%(B
@ (aB)=(ap)

Given N =250, (AB)=10, (A)=80,
(B)=100 for two attributes A and B.

Which one of the following statements

is true?

(1) The data is consistent

(2) The data is not consistent

(3) AandB are iﬁdependent

(4) A and B are negatively associated
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22. Bok (PBKLD  Baew afB  eondd,
[Ronod MO e
(1) +1 (2) +185-1

(3) wrdgn (4 -1

23. x+y=6 6a 2x+4y=20 &R Dot

BER20% BRe HHEBERBHS’, x LoBov y © .

- Bk, Bogigaores S
1 6,3 (2) 4,2)
@) 2,4

@ 4,3

24, x Bckn y o Dy Ko Haredoos Heagaw 1
oS, x W - y/2Hgy Ko BT

Bowods Mg deud
(1 1 (2) -1
(4) 12

(3) -12

25. X 208an Y e C.ﬁ;)‘éég DFO0PE aSreyds
Soore eondS?, S 808 TS° I8 dEan?
(1) E[X-Y]>E [X]
@ Ex-v]=-E[X]-E}]
3) E]>E[X]
@ E[x Y]>E[X]EJ]
26. (X,Y) &
{(xz-, y‘-): =12, e n}
aforyen. Yy =a +bx;,

HOTRPR
oD $83ede
1= 1, 2, e,
28aw X P9 Y B, y=a+bx
sonss B, 82 =Y (¥, - ) X 2900m

i=1

Y o gy o S50008 FossEan r eonnst,
o 808 T°0S° D8 dwH0?

s 82=0]

@ 8=

3) 82=0(1-r?)

¥
@) S2=of-r?)

(9)
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27.  oepidgin (AB)=0 eonds’, A 28am B
© B85 {0 HT5S5 KHoesan
(1) wrsgo (2 -1
@ -1 @) 05

28. N =100, (A) =60, (B) =10,

(AB)=40, «3d ®oK® odidersPIS,
(af) 8518 Booty, rdeDeagioo

(1) 30
(3) 40

(2) 20
(4) 10
29, A 28050 B &3 Bok ere Jgbodydod

SonoBoD DOHXHN &4 208 TRE" A8?

(1) (aB)=(4)-(B)
@ (AB)=0

® (ap)-@ALE)

@ (AB)=(ap)

30. A %08c%0 B ed doc ere, N =250,
(AB)=170, (4)=80, (B)=100 woxd3",
&1 (808 [SHD5500S” I8 DesHN?
(1) sSemotan dosised
(2) oroddn DUSEBIB

(3) A H8ain B eo Jghophshoed

(4) A%8cnB mmwmﬁ%ﬁnm


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai24

31.

32.

33.

34.

35.

If P(A)=1, then which one of the
following is not correct?

(1) P(AnB)=P(B)

@ P(anB)=P (B

(3) PA"nB)=0

4) P(a°~B°)=P (B

If P (A)zl, then which one of the

following is not correct?

(1) P(AuB)=1

@ PaA°UB)=P(B)
@3 P (a° uB°)=P (B)
@ PlauB®)=P(B°)

It P(A‘ﬁB)z%, P(B)z-jg and

P (A)z%, then which one of the °

following is correct?
(1y P (A/B):%

]

2 P(a/B )_32
(3) P(AC/B):%

cimeY_ 1

P (a°/B%)=—

For two events A and B the following
probabilities are given

(4)

a) P(A mB)=%,P (A):% andP (B):%
= 1 =]
(B) P(AmB)_4,P(A)_SandP(B) n
(© P(AnB)=P(B)-g andP (a)-3
1 1 18
=—,P = ]
(D) P(AnB) = (A) 4andp(3 =

Then which one of above given data
are correct?

(1) (A)only - (2) (B)only

(3) (C)only (4) Allof the above

Given that P (A)=a, P (B)=p and
P(AB)=7. Then P (A° " B) s

1 al-p8) @ pBl-a)

@) (-a)-p)@ (B-7)

(10)

36.

37.

38.

39.

40.

41.
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Each of two persons tosses their fair
coins. The probability that they obtain
the same number of heads is

(1) 1/4 (2) 3/4

(3) &/32 (4) 5/16

From 6 positive and 8 negative
numbers, 4 numbers are chosen at
random without replacement and
multiplied. Then the probability that
the product is positive number is

(1) 409/1001 (2) 70/1001

(3) 505/1001 (4) 420/1001

If A and B are two mutually exclusive
events with positive probabilities,
then which one of the following is not
correct?

(1 P (A UB®)=1

@ PlanB®)=P(a)
3 P(AuB)=1
4 P(a°~B)=P(B)

IfA and B are two independent events
such that P (A U B)=1. Then which

one of the following is not correct?

1 P(A)=1, P(B)=0
@ P(A)=0, P(B)=1
3 P(A)=0and P (B)=0
(4) P (A)=1 or P(B)=1

IfA and B are two events such that A
and B¢ are mutually exclusive and A
and B are independent. Then which
one of the following is correct if
P(A)>0?

1 P(B)=1 @ P(B)=0

3 P(a)=1, P(B®)>0

4 P(A®uUB)=P(A°)P(B)>0
An Urn I contains 3 white and 4 red
balls, and Urn II contains 4 white and
3 red balls. A ball is drawn from Urn I
and transferred to Urn 11, then a ball 18
drawn from Urn IL. Let Q be the sample
space of this random experiment. Define
a random variable X as X (w)= No. of
colours in . Then P (X =1) is

(1) 9/56 (2) 31/56
(3) 16/56 (4) 17/56
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31.

32.

33I

34.

35.

P (A)=1 eonss’, $ 808 T06° 98 dadn
5°07?

(1) P(AnB)=P(B)

@ P(anB¢)=P (B

(3 PlA°~B)=0

(4) P (A° ~B°)=P (B°)

P(A)=1 ©onss, &+ o8 TS 26
Db 5°87?

(1) P(AUB)=1

2 P(A°UB)=P(B)

3) P (a°uBC)=P(B°)

4 P(auB®)=P(B°)

P (AmB)=%, P(B):% 30B0»

P(A):% oS & 1808 TOS' 28
DEDD?

(1) P (A/B) =%
@ Pla/Ec)-2
@ P(a°/B)=2
@

A 208050 B &d Both sowde & |80B
Sogridgdeo BAGVEDD

A P ﬁB)=%,P (A)=% andP (B )%
(B) P(A mB)=%,P (A)=% andP (B):%
©) P(anB)=P (B):% and P (A)=—i—
(D) P(AmB):%,P (A):% andP (}3C
O aD)d SToENS’ 8 Desin?

(1) (A arpd (2) (B)srpd
(3) (C)arEd (4) 23y
P(A)=aq, P (B)=p S080k0
P(ANB)=y sanss’, P(AC ﬁB) B,
DeD?

(1)
(3)

pl-a)
(B-7)

E%&) ﬁ;

(11)

36.

37.

38.

39.

40.

41.
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30 oS’ BT DI AR TV
0BT, 2E68 o8 Jog e Fpen 5
Sogrdgh

(1) 14 (2) 3/4
(3) 5/32 (4) 5/16

6 gl 08 8 aerds Sowg® Ho0d,
4 Sowyiy atrgyEsor 868 Bintom FE

HBoSe0leD. S 0&)&» WM@&% Sograge
(1) 409/1001 (2) 70/1001
(3) 505/1001 (4) 420/1001

A HBain B edd Gl Sogrighen Ko SE30
506 FRIDIT, Se (800 T0E" OB D SE?

1 P (A° UB%)=1
@ P(anB%)=P(A)
3 P(AuUB)=1

4) P(A° ~B)=P (B)

A 58050 B e Sgoy soewden Ho8akn
P (A UB)=1. egpc & 808 70" 28
e300 U7

n- P %A]:l, P EB%zO
20 P(A)=0, P(B)=1
(3) P(A)=0 208050 P (B)=
4 P(A)=1 &= P(B)=1
A %8050 B e5d Both $oeeH, A So8aio
BC en 5638 S0eren $08ain A 2o8ain B e
Sgoginoey P (A)>0 oS, & (S0d
FS* D8 desd?

1 P(B)=1

@ P(B)=0

@ P(4)=1, P(B%)>0

@ P {AC UB)=P 8Ac),P (B)>0
go¥an 1 &° 3 392 8ok 4 B wodven,
gogno I & 4 Bed  HoBa
3 D wotueayD. ¥osan I Si0d ¥ 2odd
ARYE™D Zowsn 11 %08 rE)wiind 8ain
gogdn 11 Ho0d 28 208D YT
Q 38 a IR ([FADD0 B,
ToHS edndn. X & argyd)s Heosdd

0

X(w)= @ & Gobo Nody D
DiigD0H. efped P (X =1) dend

(1) 9/56. (2) 31/56

(3) 16/56 (4) /56
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42,

44.

45.

46.

An unfair coin is tossed until two ‘H’
appears. Let X be a random variable
defined as number of tosses required
to get two heads. If P is the probability
of a head and ¢g=1-p, then

P (X =x)is

(1) xpqunla X =1! 2: :

@ (x-1)p'¢"* =28

(3) (x +1)p2q",x=0,l, 2

(). x prg" s x=2,3

An unfair coin is tossed until two
‘H’ appears. Let X be a random variable
defined as number of additional tosses
required to get two heads. Then
P (X =3)is

(D) -=p'g" =12, ~

2) (E-1)p¢"?x=2,8-

@ f{x+1)ple®;x=0,1,2--

(4) X pqu'l’x = 2: 3!

A biased coin whose faces are numbered
1 & 2 is tossed two times. Let Q be the
sample space of this random
experiment. A random variable X is
defined as X (») = sum of the numbers
in . If P (#)=k (max of the numbers
in @), then P (X =3) is

(21 (2) 1/2

(3) 47 4) 37

Let P, be the induced probability set
function and Fy be the corresponding
distribution function of some random
variable X. Then Py (a,b) can be

written in terms of Fy by

(1) Fy (b)-Fx (@)

(2) Fy (b-0)-Fy (a)

(3) Fy(b-0)-Fx (@a-0)

(4) Fy (b)-Fy (@-0)

Let P, be the induced probability set
function and Fy be the corresponding

digtribution function of some random
variable X. Then Py [a,b) can be

written in terms of F, by

() Fy (b)-Fx (a)

(2) Fy(b-0)-Fy (a)
(3) Fy(b-0)-Fx (@a-0)
(4) Fy (b)-Fx (@-0)

(12)

47,

48,

49.

50.
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A distribution function Fy () of some
random variable X is defined as

F,x) =0 if x<0
=x;—1 if 0<x<1
=2x4—1 1f 1<x <9
=1 if =2

If P (X =)= p (&) then {p0)p @)
(1) 1{80,1/4} (2) {y4,/8}
@ U8.Y4) (4 34,0}

Let Fy (x) be a distribution function
such that P [X =x]|=p (x) is positive
for =01, 2. Let
K=p(0)+p@)+p(2). Then Fy(x)
will be both continuous and discrete if
(1) K=0

I

@ p(x)>—134, w018

Let F, (x) be a distribution function
such that P[X =x]=p (x) is 20 for
x=0,1,2.Let K =p (0)+p 1)+ p (@)
Then Fy (x) will be continuous if

(1) K=0

2) K=l

e

4 p (x)>-;—, x=0,1,2

Tet T (x) be the pdf of some
distribution function Fy (x). Then
f(x) always satisfies one of the
following. Which one is correct?

1 fx)>0

@ 0<f(x)<1

3) lim—* 50f(x)=C,C<w

4 0sfl(x)<w '
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49, Dok ‘H en D08, 565 8, 288 THD0N 47. o8, ordNE Soo8 Fy () &g, dred
S oged HAYooD ©HERD EDBHO Doy Folx) =0 6
nEsDosass. P edB Fiy GnY), Soardgd i % < Dgganriosgyes
8oy g=l-p ©owRd, efpd == 0 < x < POVSDE
P (X =x) 2009 ' -
1) xp'qg*, x=12,: 4 028>
@ (c-1)p*¢*,x=2,3" i = =1 J x22 -~
(3) (x+1)p2q",x=0,1,2--- ( -x)—p(x, SOVRPE;
(4) xp’g~t,x=2,3, {p (D],p'(z)} 20D
43, Bod H oo Shyow S0 o8, SEE TEW W P,y4) @ Ways)
DHoEE%TE. X @i dIedyd)S HOTPRD VO @) {1/ 8,1/ 4} @ @ 4:0}
Sanen HAosd WHDERD BEDY KED 48. x=0,1,2 woodgpe P [X= x|=p (x)
Beorr ::qg;ao:;m&::a. P (X =x) 2005 srsyssodiogey, DrsS oo Fy ()
d x-1 e
((;’) ’EP ql) ¥ =13 ot asposnass. K=p@)+pL)+p 2).
x—-1)pq y X = &4, 9
a8 Hr500  H0Bc0
(3) (x +1) p*q*,x=0,1,2 - wipd Fy (x) & oy
@ xp'qtx=23, Daysysn Both SHERE W
44, 1 HoB05 2 Sowses Ko Sopines fio af 1 Irf, fg
B¢ @SR oty LTI, e (2) pe =
Ay )% (SRIoKD G008 FoHS 9580 (3) =1
Q. a8, oSrEys Seed X D X(a))= @ (4) p(x)>1-, x=0,1,2
o wowp dgIwm  AUGIOITL. 3
P (0)=k. (0 & K6y Rowy oa0ss 19, 2-0,1,2 sovsqpd PIX =x]=p ()
P (X =3) 2003 ; SreEsodigoey, D Showsn Fy (%)
7 2) 1/2 ;
%g %7 E4% 3/7 aggoswdsd.  K=p (©)+p@)+p @)
45. X e airiydys Soc38, Py &6 (208 Soar wipthy Fy (x) @38 ed2s® SHGeR8
EI RSl Shohan wiay  Fy s 580
SomoBH  Dgrmd  (HR0aRdw. ePedd Q) K=0 2) K=1
Py (a,b) «38Fy & _ 1
(1) Fy (b)-Fx (@) @ K<1 @ plpgx=012
(3) Fy(b-0)-Fxla-0 50. o), Ogrmd Eoabmn Ky ) b
(4) Fy (b)-Fx(a-0) s ) . op fx) S 800
46. X en aSrdyds %orr38, Py R0 (288 Fo& 2.4, 0D S0 JOIPED ég‘g;’)ﬁ;ﬁa;ﬁ.).
Sogragh HDod Shockson Boban Fy TRIA) SothS® 98 paRN?.
S0p0BH DerEd |THoH0. egPE Py [a,b) aQ f (x) -
38 Fy & @ 0<fx)<1
(1) Fx (b)-Fx (0) @ lim—=—0f@E)=C,C<
(2) Fy (b-0)-Fy (a) S erls
(3) Fy(b-0)-Fx a-0) 4) 0<flx)<w
(4) Fy(b)-Fx(@-0)
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Let (X;, Xg') be a random sample from
N (0,1). Then the of
P[X? + X2 24X,X, ) is

(1) 12 (2) 1/3

(3) 273 (4) 3/4

If a uniform rod of unit length is
broken at a random point into two
parts, then the expected value of the
area of the rectangle formed by these
two parts is

1) 112 @)
3 Y4 @) 1/2

If X, and X, be two identically

distributed independent random
variables, the X, + X, have the same
distribution as 2X,

(1) for whatever be the distribution
of X,

if X, has a suitable normal
distribution

if X, has a suitable Cauchy
distribution

if X, has a suitable exponential
type distribution

value

1/6

(2)

(4)

If X and Y are independent random
variables such that X+Y and X -Y
are also independent, then which one
of the following statements is correct?

(1) such a pair of random variables
cannot exist

X and Y are necessarily normally
distributed

one of the random variables X
and Y is normally distributed
while the other could have a
non-normal distribution

none of the above

(2)
(3)

(4)
Let (X,Y) have a bivariate normal

distribution N [O, 0,17 %) . Then the

value of P [X? +¥2 > 4XY ] is

(1) 1/4 (2) 172
(3) 34 (4) 1/3

(14)

56.

57.

58.

59.

60.
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If X, i=1,2 are independent
exponentially  distributed random

variables with respective pdfs

f(x; 6£)=lexp{—£-} for x>0, 6,>0,
-6, o,
i=12

Then  consider the  following
statements :

(A) X,+X, also has an exponential
distribution

(B) min{Xl,Xz} has an exponential
distribution

Of these statements :

(1) (A) and (B) are correct

(2)
(3)
(4)

(A) alone is correct
(B) alone is correct
neither (A) nor (B) is correct

If the random variables X and Y have
joint probability density function
given by

flx,y)=xexp{x(y+1)} x>0, y>0,
then the value of P[Y >2/X =1] is

1) e 2 ¢

=
2

(4

@ ¢
Let (X;,X,) be a random sample from
a gamma distribution G (2,'1). Then
the value of P [X,>X,] is

B (2) 12
(3) 1/4 (4) 1/3

Ty —

Let (X,,X,) be a random sample from
N (0,1). Then P[-X, <X, <X,] is

(1 12 (2 14

3 1/3 4) 1

Let (X,,X,) be a random sample from
gamma distribution G (1,1). Then
P[X,-X,>log, 4] is
(1 12 (2)
(3 13 (4)

1/4
1/8
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51.

52,

53.

54.

55.

(X,,X,) @38 N(0,1) %008 &E%

aSreeynE (PAETHID0. P
P [X2 + X2 > 4X,X, | sevs
1 12 2 13
3) 23 (4) 3/4

28, OOTRS PGP Ko LT KGR ay
OSmesy )8 BOBID) SIS Dotk ermeedT DER"Y
i, wipiky & o Frred dGHAED
BEsBo8Ha0 DY), PFoghn Gy, eiods
DD

1 1/12 (2) Y6

(3) 1/4 4 1/2

X, 08 X, eo iy 20800 Sgoid
RS OISy BoTRPIT, X, + X, 8
ao 2X; e af dgrmdinmy E9oknowtd 88
&

(1) X, 2 9gredingdto S§ahuoddiny
(2) X, ®A3 ardy Dermdsndy 59

s3itleltinptaV]

(3) X, ®RS s dgradiodn $@afood
DB

(4) X; #R3 3-8 dgrasdnin SQabood
SV

X 28atn Y 5o oy i deoeins 8ok
X+Y 8asw X -Y e Sgdoddoen
©aNHS’, ¥9 (808 T7IS° D (DD DWH0?
(1) 305083 cITehdyE HOTRVO 8508y GOGED
(2) X B8a Y en sy darerd éowd
(3) X 08a Y oS .86 Iudr7Ry So8cko
Q0578 RrSTRgs Deesanen
SO0
4) PDd=H
(X,Y) ed8 agps 2umdy sgrassw
N [0, 0,1,1, -;-] B0 EQatuotoiy. P
P[X? +Y? 2 4XY] pevs

(1) 14 (2) 1/2
(3) 3/4 (4) 173

(15)

56.

GET IT ON
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X, i=1,2 & SgBoly Hrd Ay
BB @), 0. 0. |D.00 SHJM

f(x; Si)zéexp{——;}, x>0, 8>0, i=1,2

67.

58.

59.

60.

t i

Py 4 (308 [HIDIBOR BRE BN

(A) X, +X, 38 0% daradsod
EQ a0

(B) min{X,,X,} ¢38 558 dgrasdsoodd
ggdmocmm

e [HHBIB0eS

(1) (A) H80m (B) e Do

(2) (A) somgdo pasdo

(3) (B) 2o i3d dasdnd

(4)  (A) 208t (B) v 3ot dardw 579

X %8ain Y e Oy Dy Do @),
Hodf20¥ Bogrdgh Feo|d SRoaHH0
f(x,y):x exp {—x (y-i—l)} x>0, y>0,
wansS* PY >2/X =1] @k, desd

W e @ €

3 e 4) e
(X,,X,) «B6 mar spssiosn G(2,1)
5008 BRTINES arEynyE  (FOETHAD.
edpo P X, 2X,] @ny, sed

= (2) 1/2

(3 1/4 (4) 1/3

(X,,X,) &38 N(0,1) %008 &o85udd

OSTesyDNE (BHETID0. P
P[-X, <X, <X,] pews
1) 12 (2) 1/4
(3 U3 (4) 1

(X,,X,) 38 mar agresdan G (1,1)
o0& BWERNAS  AIrgyDE (PSS,
wapes P[X,-X, >log, 4] devs

1 12 (2) 1/4
3 13 (4) 1/8
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In case of n attributes, the total
number of ultimate class frequencies
is

(1) 2n
(3) n?

@ 2°
(4) n+2

A population of size 800 is divided in
3 strata. Their sizes and standard
deviations (S.D.) are

[ STRATA
1 T |

111

| SIZE

200 300 300

| S.D. 6 8 12

63.

| SIZE

64.

A stratified sample of size 120 is to be
drawn from the population. The size of
the sample from second stratum, by
Neyman’s allocation is

(1) 60 (2) 170

(3) 40 (4) 45

A population of size 800 is divided into

3 strata. Their sizes are
STRATA

I nm | I

200 300 | 300

A stratified sample of size 120 is to

drawn from the population. The size of
the sample from second stratum, by

proportional allocation is
(1) 60 (2) 170
(3) 40 (4) 45

In a population divided into several
groups, if variation between groups is
large while that within groups 1s
small, sampling
scheme 18

(1) SRSWR

(2) SRSWOR

(3) Stratified Sampling

(4) None of the above

an appropriate

65.

66.

67.
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Let there be a population with size
500. A simple random sample of size
50 and a stratified random sample of
size 100 are selected and let ¥ and
y, be the wusual estimate of
population mean. Then which one of
the following is true?

(1) V ([.)<V [§) always

@ VF,.)< iV (7) always

@ V.)<5V §)always

(4) Nothing definite can be said

about the values of variances

Let X, and X, be a simple random
sample of size 2 (without replacement)
from a population with size N. Then
which one of the following statements

is true?

(1) X, and X, are independent and
identically distributed

(2) X, and X, are dependent but
identically distributed

(3) X, and X, are independent but
their distributions are not
identical

(4) X, and X, are dependent and
their distributions are not
identical

A population of 54 students is divided
into three strata whose sizes are 24,
12 and 18 respectively. If the number
of students selected from second
stratum is 2 in case of proportional
allocation, then sample size is

(1) 16 (2) 12

@) 9 (4) 6
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Bl. n OBES0OS’, BB BEK® HELHERP 65. w8, S¥sw SBaTmsn 500, SBATwSY
e e 50 Ko 5% OEyRE (HBEPSHNR 206000
- 2n Al & sosrmsn 100 Ko 568 cimeyms
g » 4 n+2 e i
BOErISneR IS, ¥ 8w ¥,
62. 3B83readn 800 Ko 28, ™Sk 3 S8Erenm  GAD DHIT DS SEHros
DROTTD. D IBDreTen O SNV woTen. Ss (808 TOS® DB des0?
(Lﬁ_&}) 5 L§OCS HahHadRnd : (1) V (?ﬂ){ v (..y..) 32:}.‘}3@
LTSy | i
F S il i1 @ VL)< V) ogape
S5Bareesn| 200 300 300 4
= 6 8 12 @ Vv (7“)<EV 7) sgapen
B S°550 Bod $BArein 120 Ko 98 (58 (4) 23 ysoo Desdesn DO I DYHBW
ErIENR0 dAYSTIBR0. WS BeranoHE, :
Botkh 3680 ol JAEH (S B 66. X, So8on X, 39 IBrwmdno 2 A
(1) 60 (2) 170 BRI B )RS (SOETIBN. BFpPed
(3) 40 (4) 45
%3 808 HSHH00S° 8 duB0?
63, 38Aresn 800 Ko SEsd 3 8zenr (1) X, S8 X, e Jghogdy SoBao
DEROTTD. Hed S8TETeD Sa |SoiDOHREDD : Bechyss DerSTe)
- 2) X, 208 X, e emrdd 980w
I II 11 :
$Bsresn| 200 300 | 300 OGS R,
Sosrman 120 Ko 566 |(HEETSH0R 3) X; MBan X, ev Jgbosy bk
&s S°5am 0d JaSHBRY. e Beranod | eeyss DgrRTen
: 250, Botkd §O%AN & [§8KrD SBarEs 4) X, S6atn X,e ewds s0ad
(1) 60 (2) 70 2
(3) 40 (4) 45 SR R
B4, ¥, S°ES0R0 e HRrDTeIT 2R0dTE. 67. 54 omyRes Ho af), SEINH DT
SHordrsve e DHedEn DR 24, 12, H8ofn 18 56resdn Ko Do
58050 SHIFTFHNOS D VDA HEYDTR SBEreme DRI, Bosd NOGAN Hod
& S", BRD [SBES (e HES
goad Beronod T PSR @AW
(1) SRSWR
(2) SRSWOR SBarEsaen 2 o0, (HAEIS H0radn
(3) 206 BSES fares SES (1) 15 (2) 12
(4) GDSD 3 9 (4) 6
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68.

69.

70.

71.

In a simple random sampling without
replacement, the probability of a
particular unit being selected at the
rth draw is

r 1
1 — 2
(M = i
1 1
3 — — (4 =
3 N-r+1 4 N

5 have
mean 12 and variance 100. A size
9 SRSWOR is drawn. If X, denotes

In a population of size N =

sample mean, then E ( ) is

(1) 144 (2) 174
(3) 30 (4) 50

ol
i

the ratio estimate has smaller
variance than the SRS estimator
the SRS estimate has smaller
variance than the ratio estimate
the two variances differ by a

With SRS

when
(1)

(2)

(3)
fixed number only
none of the above

(4)

In the case of sample proportions, let
the following be given

n P S.E.
4 A 0.25
9 0.25 B
Then A and B respectively are

1 (05,05) (@) (%,0.25}

o ()@ (3

(18)

72,

73.

74.

75.
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The maximum value of the standard
error of proportion when n = 25 is

(1) 0.01 (2) 0.1
5 i i 1
(3) El (4) 7

Match the following correctly :

List1I
(A) Optimum Allocation
(B) Neymann Allocation
(C) Proportional Allocation
List II
1. n, <N,
2. n,e N,S,

JC,
3. nh oC Nfl Sh
Answer code choices :

A B C
1 2 3 1
(2) 3 5 | 2
@ 1 2 3
4) 2 1 3

A sample of size 2 is drawn from a
population of size 4 with SRSWOR.
Let X, denote the random variable

that ith unit is selected in the sample;

= 1, 2, 3, 4. Then the
Cov (Xi, Xj)i #J is

1 1
1 — 2 —
(1) 3 (2) n

1 iy

L2t A5 e

(3) 3 (4) i

In a 2° factorial experiment with
randomized block design, the sum of
squares for the interaction AB is

@ [BL g [ABF
4 8r

(3) -[AZB;F (4) None of the above
r
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68.

- 69,

70.

71,

BORJBYD VB TGS HAETS e
SEAE, 1D PSS, 28 (B ADIRePI

Jmag“ﬁéoea‘ééé
r 1
1} — 2
S ®
L 1
3 —_— (4 —
2 No—r+1 @ N
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76.

A 4 x4 Latin Square Design provides
the following incomplete ANOVA table :

Sources of Variation S.S.

7.5

Columns

Rows 46.5

Treatments

Error 55

Total 113

7.

78.

79.

Then the F-ratio for treatments is

(1) 0.27 (2) 0.145

(3) 1.69 (4) None of the above
Let A, B, C be three treatments, then

which one of the following can be
considered as layout of a Latin square

design?
ol (A
cl| (2) A
B| A
B| (4 |B

e [

In a 4x4 Latin square design, the

a0

loll C.

abrm >

e mmW

Q>

estimate of a missing value in the
usual notations is
) (R+C-1;}T)—2G
4(R+C+T)-2G

6 _ '
4(R+C +T)+2G

6
4(R+C+T)-G

6

(2)

(3)

(4)

In a two-way classification, an
unbiased estimate of the common

population variance is provided by

(1) Block SS
(2) Treatment SS
(3) Error SS
(4) Total SS.

(20)

80,

81.

82.

83.

GET IT ON
Google Play

LD/718

If in the analysis of variance of a
completely randomized design, the d.f.
for the treatment SS is 4 and the
mean SS due to error is 2, while the
observed  F-value  for testing

- significance of treatment difference is

12.5, then which ome of the following
represents correctly the treatment SS?

(1) 25 (2) 100
8 T5 (4) 50
In RBD with 4-treatments and

5 replications, if one observation due
to 2nd treatment in 4th replication is
missing, then degrees of freedom for
the error SS is
v 7

3 11

10
12

(2)
(4)

In RBD with four block and five
treatments, the block mean square
and error mean squares come out as

39 and 8, respectively. The efficiency

of RBD as compared to CRD is
(1) 4/5 2 /8
(3) 172 (4) 28/19

The following data represents the
lifetimes (hours) of batteries for two
different brands :

Brand A : 40, 30, 40, 45, 55, 30
Brand B: 50, 50, 45, 55, 60, 40

Then the value of empirical
distributions  (F, (45), Fy (50))  of
Brand A and Branch B is '

L, LY = 5 2
n =2 @ |2
(1) (3,3} (2) [ 6 3)

15 12
(3) (E’E) (4) (3,§J
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(1 2% (2) 0.145
(3) 1.69 (4) =Y
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84.

Two samples are combined and the

observations are arranged in order of

magnitude to give the combined
ordered sample
X Xg Y1 Y2 Y3 %3 Vs X4 X5 Us

85.

86.

87.

The number of runs will be
1y 2 (2) b
(3) 6 (40 4

Two samples are combined and the
observations are arranged in order of
magnitude to give the combined
ordered sample.

Xog Xy Y3 Y2 X4 1 %3
Then Mann-Whitney statistic is
(1) 6 @2 7
(3) 5 (4) 4

A non-parametric test for examining

the location aspect is

(1) z* —test
(2) median test
(3) run test

(4) t-test

The test for goodness of fit based on
which distribution?

(1)
(2)
(3)
(4)

7% —test
medién test
t-test

gign test

(22)

88.
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The value of error sum of squares in
the given analysis of variance table for
CR.D.is

90.

Source of Variations | d.f. |S.S. | M.S.S.
Treatments 4 — 3p
Error = | — P
Total 9 [425 |
(1) 125 (2) 200
(8) 225 (4) 300
89. Let for some r>0, a,=E|X| be

finite, then consider the following

statements :

Assertion (A) : @, exists and is finite
for R <r.

Assertion (R): a, <a,, for 0<k<r

Which one of the following is correct?
(1) Both (A) and (R) are true and (R)
is the correct reason for (A)

Both (A) and (R) are true but (R)
is not the correct reason for (A)
(A) is true, but (R) is false

(A) is false, but (R) is true

(2)

(3)
(4)

Let (X, Xy,

sample from binomial distribution

b(1,0). Consider the following

statements :

Assertion (A): X2 (X is the sample
mean) is a MLE of 8°

X is an unbiased
estimator of .
Which one of the following is correct?

,X,) be a random

Assertion (R):

(1) Both (A) and (R) are true but (R)
is the correct reason for (A)

(2) Both (A) and (R) are true, but (R)
is not the correct reason for (A)

(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true
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91.

92.

93.

(4)

A sufficient condition for T, to be

consistent for & is
(1) E(T)>0asn—-w

2 V(@T,)->0asn—ow

(3) E(T,)>6o0r V([,)>0as
n—rw

4) E(T,)>6and V(T,)>0 as
n—ow

Let Y, <Y, <Y; be the order statistic
of a random sample of size 3 from a
uniform  distribution U (6-1,8+1).
The M.L.E. of 6 is

(1) Y,

(2) Y,

(3) Any value between Y; -1 and
Y;+1
B

3

Let [XI,XZ,X,,,---,XR) be a random
sample from N (6, 8). Let

L3 (x,-%,

T,=oX +(1-a)S? 0<axl)
Suppose the following statements :

(A) Unbiased and consistent for 26
(B) Biased and consistent for 26

(C) Unbiased and inconsistent for 26
Then, which one of the following is true?
1) (.0 @) (Ty,a) |
@ E.e @) (T,,c)

(24)

94,
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To test the hypothesis H, that a coin
is unbiased against H, that it has a

positive bias for heads the following
procedure is suggested.

“Throw the coin thrice if there are
3 heads reject H, or if there are just
2 heads throw the coin another
3 times and reject H, if and only if all
the three additional throws show

heads; if there is no more than 1 head .

in throwing of the coin thrice first
time accept H;”.

(1) 18 (2)
(3) 1/4 (4)

11/64
1/64

If X has a Poisson distribution with

parameter 6, ‘then the unbiased

estimator of (1+6) (2+0) is
1) X?2+2X+2

2 2X%+X+2

@ X?+X+2

(4) 2X%+2X+1

In a normal population N ((u, 0'2)

lt the MLE of o e
31 % 7
== _XJ . Then the MLE
S = ‘;(X‘ ]2 en the
of p, is
@ s 2) 8S°
(3 38° @ 28
Let. (X, Xy, X3 X5) be a

random sample from N Lu, crz).
g4 Ailg s
f S . ;:1(X‘ xf,

confidence coefficient associated with
the interval
i ) 2 2] ) 2
(n—zls <6_2((n 1215' is’
.Z (1_ E ] X a
2

(1) o ' (2)
@ 1 —-% (4) None of the above

the

2
1-a
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T 88 O@Bwg, dofd  wosw
0508 Sovgd W88 .

(1) n— o soodgpd, E(T,)— 0

(2) n - o eaosypdd, V (T,)—> 0

(8) n— ® eavdsp, E(T,)— 6

85 V(T,)-0

n — o eowsgpe, E (T,)- 8
8ato V (T,)— 0

(4)

besrs Dgramssn U (0-1,6+1) 008
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3
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DS ED OireeyD)¥ (HES 52850

1 o 4
2 _ =,
S —n_lg(X; xf,
T1=f+———(n_1)sz,
n
T, =X +8?%,

(n~1)8°
===
T,=cX +(1-a)S* (0<a<l)
%4 1808 [SHHH00 @5 RoBL

R " =af+(l-—~a)

(A) 26 & pag3Esw 2800 DosESD
(B) 26 & 28850 200050 DO¥EH0

(C) 20 & dap8Edn 2oBok edesEID
P, e 808 T°2S" D8 DeH?

(1) (Ty,a) 2 (Ty,a)

(3) (Ta ,C) (4) (T‘;,c)

(25)
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98.

99.

Let X be the mean of a random
sample of size n from N (,u, 9).
B (}? = X 1) is a 90% confidence
interval for z, then the sample size n
should be
(1) 24

(3) 15

(2) 16
(4) 5

Let [XI,XE,XB,X4) be a random
sample from a Poisson distribution
P (6). The Cramer-Rao lower bound

- for the variance of an unbiased

100.

101.

estimator of 6 (L +0) is

0
(L) 3
@) 0 (1 +26f
4
) 0° (1+6f
4
(1+ 6‘)2
4 i) o
(4) 1

On the basis of single observation X
from a uniform distribution U (-6, 8),

the critical region for testing
H,:0=1 against H,:60=2 s
C:{x:|x|>0.9}. The level of
significance is

(1) 0.025 (2) 0.05

(3) 0.10 (4) 0.50

Let (Xl,Xz,Xs,---,Xn) be a random

sample from a geometric distribution
with pmf

plx,0)=001-6f"x=12--,0<0<1

Then X is an unbiased estimator of

1 @ @ ¢
1 9

5y = D —

® 5 @ -

(26)

102.

103.

104.

105.
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Let (X,,X,,X,,,X,) be a random

sample from N (,u, 0'2). Then

Tn=lz X? is an unbiased and

n i=1
consistent estimator of
1) 4 @ °
(3) ,Uz + 0'2 (4) H + O'4

Which one of the following testing

-problem makes use of ¢-distribution?

(1) o*=op
(2) p;=p; *xP;
(3) of=o0}
4) m=u

The test for goodness of fit is based on
which distribution?

(1) Cauchy (2) x°

3) ¢ 4 F

Let (X,,X;,X;,,X,) be a random
sample from N (a o, ag); o is known

constant. Then a sufficient statistic for

o 18
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98. N (1,9) 008 89S I0dS oSy
Posrs Soggusw X-op Sog, 90%
DFIDOH LoBEHD (X -1, )?+1) sonds’,
WP (FSEED SBIreDL N ded

(1) 24 (2) 16
3) 15 4) 5

99. (X,,X,,X;,X,) 386 dronerS dgrasdw

P () %ol JpSndd ofrsyms Saw-sw.
6 (1 +6) By, dand¢ wosT B, 33 38
G00%); 5700 — oo BI0D 5§

K
4
6 (1 +26Y

4
6% (1 +6)

(1)
(2)

(3)

4
(1+6)
o

100. Hssrs sgrmsino U (— 6, 0) 008 $30800dd
2.8, 58805 X eandS, Hy : § =1 % H¥tsore
Hy:0=2 % 583005 SoBf @othan

C={x:lx\>0.9}. ea_::)‘yd) Lo o

Dend
(1) 0.025 (2) 0.05
(3) 0.10 (4) 0.50
101, (X, X;, X,,~,X,) o8 oo

HEEDAD H0.0. (3.
plx,6)=0@0-6f"x=12,,0<6<1
Ao w:sé’)o&cﬁo DermIRN 0G JHYE BWAHA.
edpdd X &8 B8 dapnds wohar?
50 @ ¢
3 @

6

= D

(27)
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103.
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@ H+o (g #r
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1 o*=0;

(2) py=p; *p;
@) ol=o;
4 m=p
104. oosopw Togp 585 2 DereHENG
erEatiadn? _
(1) =8 @
@) ¢ @ F

(X,, Xp, Xs, . X,) 38 N(ao,0?)
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107.

108.

109.

Let (X,,X,, -, X,) be iudepe;ldent '

observations from a population with
finite variance o°.. A consistent
estimator of the population mean is

1 X, +X,
2

n —
2 X
(2) 3
@) > X!-nX

i=1

(4) None of the above

Let ¢ (t) be the characteristic function
of some distribution function F (x).
Then which of the following is not true?
(1) ¢ (t) is uniformly continuous

@ |e)|=1

3 pl)=0(t)

4) ¢(0)=1

Let ¢ (t) be the characteristic function
of some distribution function F (x).

Then which of the following is not a
characteristic function?

W pl)=1 i 2

(2) @(t)=cost

3 |e @]

4 |e ) |2

Let ¢ () and ¢ () be two

characteristic functions. Let

k ()=ap () 0sas],

ke )= o1 (t) + @, (¢), and

ky (t)=o, (t) @, ), then choose the
correct answer from the following :

1k (t) is a characteristic function

(2) &k, (t) and k, (¢) both are
characteristic functions

(3) ky (t) and & () both are
characteristic functions

(4) only k, (t) is characteristic
function

(28)

110.

111.

112.

3 et
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Match the following correctly :
Distribution Function

N (2,2)
P (2)

(A)
(B)

(C)
(D)

Cauchy distribution
Binomial distribution
Characteristic Function

!1 + 2e* I

(a) o7
(b) eza-zx’
© exp2f*-1}
(d) exp-2 l ¢ ]

Answer code choices :
B ¢ P
b d

>

(1)
(2)
(3)
(4)

Lo S

a
o a

o o
PR
ot ot A ©

Cc

Let X be a random
distributed with N (0,1).
E (cos 2X) is '
L o

variable
Then

(2 1

vl

(3) e? - (4) e

Let X be distributed as Cauchy
distribution with pdf

1

flx)= m"

Then E (sine éx) is

1 1 2 0
-2

(4) €

—w <X <0,
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106.

(X,, X, =, X,) A6 56208 2338 o
o &%50 Kood JHYEHRED Kgolss S0%e

B0, 6% Hogsgodn GE), DeE wodT

107.

108.

109.

X +X
1 1 1 n
(1) e e
n ——
2 X
2 n-3
@ Y X!-nX
i=1
(4) =ds=y

F (x) &8 ogres (Sochdn @y, er¥ds

a0 ¢ (t). S 808 TS° D8 dasw

5657 :
(1) @ (t) 5% 55 epayHd0
@ |e)|=1

@ e@)=0(1)

(4) cp(O) 1

F (x) &8 ogresd (Soophidn @), ogss
Shoadn ¢ (t). & Bod TS® 08 s
SR 5260?

® k)= 1 :t“
2) @(t)=cos(t)
3) | @]

4 |el) [2

o, [t) 0Bt @, () @38 Botd o¥Bs
SSootren. B t)=ap (), 0<a<l,

ks (t) o )+ s (£), o8k

ks (€)= 91 €) 0z (). o 308 RS 9B
K);im.:‘;ﬁ;ﬁxm D58 0%

(1) &y () 038 ergsis oo

(29)
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110. & 208 TE BESTRDD

(A)
(B)
(©

(D)

(a)

(b)
(c)
(d)

(1)
(2)
(3)
(4)

Deresd [FaRoakaH
N (2,2)
P (2)

5o DEFEdA0

Q5365 Degradd
erE3Y [SooHHw
‘El_ +2¢" )

2T

2it-2¢
e 13

exp 2 f* 1]
exp-2|t|

e °chen

" B C |
b

C

m p» A U

o o o B B
= i = ol o PR

111. X & otrey2ys Seood srmsin N (0,1).

wipd E (cos 2X ) Dend

(1)
(3)

0 2 1

wa e

e (4) e

112, Xea?ﬁﬁ %50.300.3.

—0 <X <P af)s“ax
f() n’ll+xi e

(2) Ry () 2o8cso &, (£) ed2 e:".{e?oé
| Shocsre DgresB00s0 E9atoRB. wgpe E (sine 2X )
(3)  ky (t) 08050 &y (¢) &R0 gy .
SHocTmen :
' 1n 1 (2 0
(4) Ry (t) Sopso ergBE (SRoaBn =

1.\
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113.

114.

115.

116.

Suppose the variable takes
values 0,1,2,---,n with frequencies

1,*C,, "C,, -, "C, respectively. The

mean square deviation about the
origin is
n(n+1) 2 n(n+1)

(1
) 2 4
n+1 n’+1
3). — 4
) 2 (4) 2
Given the following :
Sample size 50 100
Mean 54.1 50.3
S.D. 8 7

Then the S.D. of the combined sample
of 150 is

(1) 57.21 (2) -57.21

(3) 17.56 (4) -7.56

The measure f3, is independent of

(1) Change of scale only

(2) Change of origin only

(3) Both (1) and (2)

(4) Neither (1) nor (2)

Let there be two observations x; and

on the variable X. Then the

s/ Variance of X is

X

fy | =
2
(2) range
(3) 2 (range)
(4) none of the above

(30)

117.

118.

119.

120.

GET IT ON
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In a firm the average salary of male
employees was Rs. 520 and that of
females was Rs. 420. The overall
average salary was Rs. 500. The ratio
of male and female employees was

(1) 70:30 (2) 80:20

(3) 178:22 (4) 82:18
In a mesokurtic distribution the

fourth central moment is 243. Its

standard deviation will be
1) 3 (2) 27
3 9 (4) 81

A man having to drive 90 km wishes
to achieve an avearage speed of
30 km/hr. For the first half he
averages only 20 km/hr. His average
speed in the second half of the journey

in order to achieve the desired average

should be
(1)
(3)

45 km/hr  (2) 40 km/hr

60 km/hr (4) 50 km/hr

Second and third central moments of a
distribution are equal. What is the

nature of the distribution?

(1) Symmetric
(2) Asymmetric
(3) Positively skewed

(4) Negatively skewed
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118. &, ®decd 0,1,2,, no s de0sed 117. 28, Seps’, 20K &% So°8 2650 8. 520
ﬂﬁ)?»')ﬁ“ 1, RC]_, HCz, Tty ncn Eﬁ b‘m“wﬁa

Sofato e s8R PR Bedn & 420.
CORcGS. Saresn By Dggo '

00 K098 B30 &, 500. Horf HBao

2J0DH0 Jeod -
esdh & 3}1)0 z:q)g
(1) M (2) M ' . ' _
2 4 ] (1) 70:30 (2) 80:20
o ‘ 8y T8.22 (4) 82:18
3 n+l n°+1
(3) -——2 (4) )

118. 202958 Derassnd’, wgd Jofah Fros
114, &5 3086 a9gwans ! @
243. B2 BE); ES DHOIIN

B8 SBsredy 50 100 1 3 @ 21

BGg0B00 54.1 50.3 (3 9 (4) 81

55 DROPIN 8 7 j

150 o5 flo aand (HOATH50 ¥ DO 119. 24,¢ 90 8.5, Sairendui Ho°s0 Prd0 30 |

De0d km/hr, & Brroso®oered. D08 & BHH0

(1) 57.21 @) -57.21 . | oo Hovs8 Bt 20 km/hr. & B,

(3) 17.56 (4) -17.56

' 5% BB B ArBodoeD, RID

115. B, &3 Sod 828 JgBo®n» ; SKS) ETEENK0 dob HOPH8 DHE® (FHA

(1) o0 5r§)a8 HmBd Bos98:507

(2)  Soreswn Hr8)E8 SrEd (1) 45km/hr (2) 40 km/hr

(3) (1) HBoso (2) o () 60km/hr (4) 50 km/hr
(4) (1) 08050 (2) Bodr® ¥ :
" 120. 24, DwrasswsD Doud HBako Bl

116. X &3 deod c?mgb'dofi) $8%e0en x; H0B8ain gO@m Srdgen SATTSE. DEFEHH0 B0E,

x,. X @, P38 58 D02«

(1) _Zg .

@ = o | @) wogosn
3 269 | 3) s segss
(4) =ISD

(4) ey Clpenl
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121.

122,

123.

124.

Let (X,,X;) be a random sample from
N (0, 1). Then P [X,X, >0]is

(1) 1/2 (2) 14

3) 13 4 1

Let (X,,X,) be a random sample from
uniform distribution U (0, 1). Define
Y =-log, X. Then P v, <Y,|is

(1) 12 (2) 1/4

3) 133 (4 1

Let (X, X,) be a random sample from
pdf £, (x) For testing hypothesis
f,=N(0,1) against the alternative

hypothesis f; (x)=[£}2 e 2 x>0,a

/4
critical region
C-= {(xl,xz):xf +x2 > log, 9}
is obtained. Then (, B) is

(1) (1/3, 1/9)
2 (1/3, 1/3)
(3) (1/8, 2/3)
4) (2/8, 1/8)

Let (X,, Xz) be a random sample from
gamma distribution G (1/2,6). For
testing hypothesis H,:6 =1 against
H,:8%1], a
C={X,X,): X, +X,>log 4} is
obtained. Then power function 2 (9) is

critical region

L @4y @ (4
3 ([r2f (4) (112)15

(32)

125.

126.

127.

128.

GET IT ON
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Let (X,,X,) be a random sample from
a binomial distribution b (1, 9). Then
which one of the following is not
sufficient for the family of
distributions { (1,8):0< 8 < 1}

1 X, +X, (@ X, +2X,

@) 2X,+X, @ XX,

Let (X,,X,,~,X,) be a random
sample from N (6,8), 6>0. Then a

sufficient, unbiased and consistent
estimator of 8 (1 +6) is

th - X @ ) X7
i=1

1< 9 n+l =

A W & ity
(3) nz‘{ W@ =

In the experiment of throwing two
dice, the probability of getting two
different numbers on two dice is

(1) 15/18 (2) 13/18

(3) 1718 (4) 5/18

If X is a uniformally distributed

random variable in (- 2a, 2a) then its

distribution function will be

x+a

) F = ~2a<x<2a

(1) (%) = a<x

(2) Fx(x)=x+2a—2ﬂ.<x52a
' 3a

(3) FX_(x)=x+2a —2a <x <2
4a

(4) Fx(x)=x+2a-2a<x£2a

a
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121. (X,,X,) &38 N (0, 1) %008 8305 50ds
afryayE Eersiw. expd P [X,X, 20]

Dend
(1 12 (2) 1/4
(3) U3 4 1
122. (X,,X,) 36 bssrs agrassn U (0,1)
2008 SREHES Gy (H8YISRw.
Y =-log, X. espc P [Y1 <Y2] de0d
(1) 12 2 1/4
3) 13 4) 1
123, (X,,X,) @38 oo fy(x) %o0d
JIYEIES CIrEyD)S (SBETIE0. eSseyd
f, =N (0,1) 5588%or Serghmch as¥ey
2 2 —:2/2 :
fix)=|=|e x>0, % 5BfosoeH
T
T S0 [RoBAn
C= {(xl,xz):xf + x5 > log, 9}
op (a, f) swden '
(1) (1/8, 1/9)
2 (1/3, 1/8)
3) (1/3, 2/3)
(4) (278, 1/3)
124, (X,,X,) 638 mar sgmsan G (1/2, 6).

Hood JK)J&E'" 268 CﬂI‘fﬁq}w‘l‘Q§ (LHHBEI"S800.
$8¥eyd H,: 0 =1 % 33@0sore H,:0>1

% oBictewd B Doy  (Prosdw
C={X,X,): X,+X,>log, 4}. %
Boaso £ (6)

1 Qe @ @4

@ W @ e

(33)

125.

126.

127,

128.

GET IT ON
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(X, X,) =38 a6 dgrassn b(1,6)

2008  JIYERH  OTEZE (SO,

b,6):0<6< 1} oereddy Hewowdd

%4 808 TS’ DB SorgHEn?
1 X +X, (@2 X, +2X,°
3 2X,+X, 4 XX,

(X,, X,,, X,) @d8 N(6,6) 6>0
008 0 EDR IR (SBETSH0. SHHE@

0 (1 + 6) @Y, Sog3, DAYAS BN Do

=1

Zleh e
o X @ ) X}
« Fal
1< 2 : n+l <=
=¥y x: 4 —X
() =2 K W =

Both 0¥ (S SATNS’, Both SR

Bock Thgth Homgen ) Joerdgs
(1) 15/18 (2) 1318
(3) 1718 (4) 5/18

X 38 (-2a, 20) S DESED DerEsdHn0 -
595y, B0 Gk, Derai [FHE

X+a

(1) Fylx)= = ~2a<x<2a
(2) Fyx (x)=x-:;-fa -2a<x<2a
(3) Fx(x)=x+2a—2a<x$20
(4) Fx(x)=x+2a—-2a<x£2a

a

el
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129. If X is binomial random variable with

n=2 and p=0.6, then the variance
of the random variable X/2 will be

(1) 0.12 (2) 0.48

(3) 0.24 4) 0.24/V2

130. Let X be E;. standard normal variate.
DefineY =X, if X 20
==-X,if X <0
Then the distribution Y will be
(1) Normal
(2) Cauchy
(3) Uniform
(4) None of the above

131, If Mx(t_):lit-, t<1, then the

variance of X will be

(1) 0

2y A

3) 2

(4) None of the above

182. If f (x) is the pdf of standard normal
distribution, then E [f (X)] is

1 -1
(L} — 2y —
N2r ZJ:?
1 1
3. —= 4) —
rr\/a 27
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133. Let X have a Poisson distribution with
parameter A, then the wvalue of

F(0.5) is

1 e @ 2+’
2

@ € @) e

134. Let X be random variable with
distribution function Fy (x)=1-e™*,

0<x <, A>0, then E (X) is

1 24 @ 4
1 A
(3) I (4) E

135. In a  binomial  distribution
with parameters n and p,
P[X=0]=P[X=1], then  the
coefficient of variation is
M n @) P
@ 1 (4) nlp

186. The least value of k in Chebysheve’s
inequality for which the probability
- that random variable takes on a vélue
between u—k o and u+k o is 0.99
s
(1) 10 (2) 16
(3) 12 (4) 20
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129. n=2 8ot p=06 Ho B
Derasdtno X §9asnss’, X/2 ook, 3558

(1) 0.12 (2) 0.48
(3) 0.24 (4) 024/42

130. X @8 @raoeeds Aoy Dood
Y =X, X220 eondipi
=-X, X <0 20033p
R}dﬂsaoémc‘i::éa. wapcd Y Gg), derassn
(1) Sdrdghn
(2) =2
(3)  ELITSH

(4) =ddsd

131. My (t)=I1—t-, t <1 eandyp, X B%),

E)‘.-_f.)na@
(1 0O 2 1
3 2

(4) 3D

132, |Srardy 2y dgreian $o.80.[. f (x)

esawdsS, E [f (X)} De0d
1 1
(1) . :
N2
1 1
(3) '
71'-\[2_ 27

133. X ¢38 Soe0d A Ko IaNES JeresdHd

sgaioigB. egpe F (0.5) Deod

-4 -4
W e @ 2&te
. 2
(3) e—2& (4) e—ﬂ.53

134, X o osegys dood G, dere [SapaDn
Fy (x)=1-e, 0<x < A>0,

oowss, E (X) o, D033

) 24 @2 4
1 A
. 3 5 (4) o

185. n 280 p SorDoBoed e B DerEdans’

P[X =0]=P [X =1] eos5", dsemrosi

=
10 n 2 P
@ 1 (4 nlp

186. 3035 essrEand’, B G BeTR
u—K o 58050 p+k o a9 &

£ Nograg 0.99 o', k G, £

2e03)
(1) 10 (2) 15
3) 12 (4) 20
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187. The distribution function of any 140. The joint p.d.f. of (X,Y) is

random variable is fle,y)=20<x<y <1

1: always right continuous Then E (¥) is

I1: right discontinuous at countable

1 1 (2) 1-x°
number of points :
III : monotone non-decreasing .0 W %

Select the correct answer from the

. 141. Let X have a binomial distribution
following :

(1) None of the above three " with mean = 4 and variance = % then

statements is always true ' S
P [X 1] will be
(2) I and III are true, but I is false

723/729
(3) TI and III are true, but I is false (n Ve (@) 723772

(4) All the above three statements (3) 728/729 (4) 1/243

are true when the r.v. is discrete
142. If the p.d.f. of normal distribution is

188. Mode of the p.d.f. proportional to exp {— -1— x? + 5x} ;

X

L = .
f(x)=§e f,0sx <18 which one of the following is the value

(1) 0 (2) (2] of mean? :
(3) 1/6 (4) None of these 1) 0 (2) 5
(3 10 . (4) 2Jre®

189. The probability mass function of a

random variable X is given by 143. If P[AuB]=5/6, P[ANB]=1/3,

1 o

p(x)= g+l ; x=0,1,2, P l_szliZ, then the events A and B
=1 otherwise are
d dent

Then E [ﬂl_] . (1) ependent .

= (2) independent
(b .0 2 1 (3) mutually exclusive
(3) 172 (4) Does not exist

(4) none of these
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137. DA0 cairgya)¥ $o03 Gy, daresd [Sochn
I deupth HE ook edd)nHdn
Il - Kmﬁdmo@@&ﬁé&&&m&m&a@n
III: 2583 8Mse 808
S 208 TR 08 RBADH JATEERHLDR
MR Y
(1) 500 (S35:95006° 28 derdad S
(2) I208afo II desdoo, 520 1T e
(3) II %0805 III fa;séoo, s 1 wa)'g:m
(4) g8 Devrd edJWPIPE®, P

o) [FHBH200) Dadn

188. ®o.20.(3. Yool f(x)z%e 8, 0<x<®

o?mgb 2TVIES0
@ o @ 0
(4) =D

(3) 1/6

139. ofrdydns Seod X 3Bw¥), Ddogrdgh (8535
[Pavoldo
p(x)=—r; £=0,1,2,
2
=l lateflan
i 8
eonds® E (—-) dend
\ X

(1)° 0 (2) 1

(3) 12 (4 ok

140.
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(X,7) @, Socing So.270.3.

f(x,y)=2;0<x<y <1 wondst, edpd

K (V) 2e0n
(1 1 (2) 1-x*
3 0 (4) 2/3

141. X 38 Sogsgiosn = 4 080k 938 =

142.

143.

co| e

Ko B3t Derassod sQamst, P [X 21]

BwE); DenDd
(1) 1/729 (2) 723/729
(3) 728/729 (4) 1/243

avm_u.'sa dgresdtn  GE), H0.7°0.|9-,
exp {—i—xz +5x} GATRE DROFEINS

&S, e 808 TRS® DB B Derd?

1 o (2) 5
3 10 4) 2Jxe®

r[AuUB]=5/86, P[AnB]=1/3,

P[B]=1/2 eowss, A wBato B &b
Hoeoden

(1) e85

(2) SgbozHoe

(3). SBEHBHFTeen

(4) =>dstH
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B]
144. If the possible values of a random
variable X is 0,1,2, -, the E (X) is
1) P[X>n]
(2) P[X <n]
@ Y PX=n]
n=0
4 Y P[X<n]
n=0
145. Let X be a single observation from a
p.d.f. )
flx,0)=6x°"" 0<x<1, 621
=0; otherwise
For testing H,:0=1 against
H :0=2, a critical region

¢ = {x:x > 0.99} is obtained. The value
of (a, B) are

(1) (Of0R)

(2) (0.01,0.019)
(3) (0.01, 0.009)
(4) (0.01,0.98)

146. Let (X,, X,) be a random sample from
a Poisson distribution P (1). Then the
statistic ' = X, + 2X, 1s
(1) Unbiased and sufficient for 4
(2) Unbiased but not sifficient for 1
(3) Biased and sufficient for 1
(4) Biased and not sufficient for 1

(38)
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147. If the p.d.f. of random variable X is
f(x,9)=93xp{~9x] 10<x <o
=0 otherwise

(1) Sample mean
(2) Sample median

1
- (R AT D
& . Sample mean
| 1
4
@ Sample median

148. Let (X, X,,X;, -, X,) be a random

sample from a uniform distribution
U (6,1). The M.L.E. of 6 is

@ Yx @ Y&
=% i=1

(3) Max {X;, X,, X, }
(4) Min{Xl’Xi!r"'Xn}

149. The p.d.f. of random variable X is

f(x;e)i-i‘}—gexp{_—‘;c—l}; —0 <X <P

G-t X wd 7,0 YK,

then which one of the following gives
the M.L.E. of 6?

(1) T) only

(2) T, only

@3) T, and T; both

(4) Neither T} nor T,

150. If X is a binomial random variable
with parameters (5, 0) , then UMVUE
for y (6)=0(1-6) is

2 %
o Xl g Eo)
3 X{l;l‘{! @ X (x-1)

0
2 20
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144. X &d ofrayays deod Bws), Devdew 147. X oid afreydys Houed @), %50.83°0.1.
6)=0exp{- 0<
0,1,23 - wonds, E (X) @o0¥), de0d f(x, ) exp{ Qx}; iibp
: = 0, 'aédkg?
(1) P [X>n] wans S, 6 G, Kdo.so. (MLE.) b8?
2) P[X<n] (1) (BSOS SoggEosn
= (2)  (S8EFD D0ggKEE0
i - ® Y Plxzn] = ol
"= SOETS BB
& - - BN
o) Z;D P(x <n] (4 sesms Saggissn

148. (XL,XZ,Xa,---,Xn) A8 D& dgraan
U(6,1) #ood d85owdss, 6 &g,

K.50.00.

145. X 28 a8 Ho.270.13.

,8)=027"% 0<x <1, 621 2
f e 6) ox n) 2}: @ 3 x?
-0 i-1

JBEEe
(3) Max{x!r 23" Xn}
(4) Min{X,, X, X,}

n

06 SEHwEs 98%ed. Hy:0=1 %

sg@8%ore Hy:0=2 & 583000 T6

. & R0.7%0. 2.
HoBY ProBdn C = feix > 0_99}_ R 149. cirdydns Seooed X Bl 00.7270.;

| T 3| RN
(a, ﬁ) enHed f (x, -9) 28 exp{ } 0 < X
(1) (0,0.9)
2) (0.01,0.019) Z X; b Ty ‘*Z | X |
(3) (0.01,0.009) mnéﬁ‘.éa@oﬁ:?:)éﬁoﬁ 0 &%, K30.80.2
4)  (0.01,0.98) (1) T, srgd
Q) T, s

(3) T, 508k Ty evBotds

146. (Xl,Xz) ©A8 o dgrandn P (/1) (4) T, 508050 T, e0 B0 5°)

So08 dFHeds aUnEys)s HSrEi.

wipd T =X, +2X, od ropgan 150. X w38 (5, 0) Soemegven o BFIS PSS
v - o i sood wonns® w(0)=0 1-6) g,
(1) A % 2ap8sdn o8ckn Sorguan UMVUE

(2) A % 2apSEso S0 SogSEn 50 {5X X2 ) (2 (X2 -5X)

(3) A % -850 HBain Soegdan {3-) X(l X) s X(X—l)
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